EARAZROREIERT — 2 N—XBISY —F 201258H5H (H) 4REEEmMS5H

el 2 C 2 74 ¥ 52— (xwlw | lmEmml - |5 @) oo 8
[AE£] 1% :120,000 8  2#&:24,000 M  33%&:12,000 M  43%&:9,000 3 ~ 53 :3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: TRRELE— 14, - . — IEEE (R
1155 J)—=73ax% 07 s 1(1_4)9 3-1 37.8 1 ;1_7;) e
RS RS —N— B ayLTA BEZZY K
Py K — # 5 | WAB— 1:16.1 1-2 39.2 — 2 473 | EBEHEE] (KiR)
olglg| 7y x0T 1— 53.0 @) -4y | B) £=257
R:ByTELRVF— B:HNFUAL [=3iEse]
ST 4 | B 1:16.3 3-4 39.1 | — 5 493 | FEF= (M)
3177 verarF-b * 55-16 (1) (-2) (%) K—=2FT
RITIIRL BEAZTNN AP R P T
s i = 4 5 | AHE 1:16.6 9-7 37.9| — 4 472 | NEREE (BER)
47|88 >¥av7NALhZ 55.0 @ 3) | B) k=257
RRA—YLFO—X BiLF4—911Y L3t e
= =3 11 Ra BR AR 1:16.8 6-5 38.9| — 6 479 | =< ARHE] (KIR)
5/8[10| 7 MFF¥a ’ 5.0 1172 Ca |EEBE
R:VrzaAr BIRYITATT Nk Bk
AFi8E :16. - . — FEER (KR)
HX<TbHY 4 5 2l 1(11/62)9 525 39.3 8 (4_331) ks
L:HI7STLIF b B:VIvb—L AR RSB
s~ N N BRRE : = — RINRE (KR
1 XIF - v ' 7540 1'(147>'6 e %3 10 5?24) () k=257
Loy 92w X B:i¥xv)—Typ—2R L 5% EE
S s ERRE : - - BB ()
(3 /a—X B 7 e 171{:;3 8-9 39.0 7 (3+932) e
R:%¥/ by THY BTRIA A= palicke)
S TL 4 5 | LHERA 1:17.7 1-3 40.9| — 3 431 |fBEFK (M)
NIVA MY TLT o 53.0 (7€) 1) EEE) KX T
L IINY R BiLFs—ITULA =M X
. V3 # o6 | BEIXIE 1:18.0 10-10  [38.7| — 9 541 | BRAS (KiR)
10[1]1|7=N=kx>T 5.0 (1 1/2) Ca) | ) x-x57
R:Za—A>95> K B:5—Y—Kk—7 ARHS
® 1—F—@EBIERL
13—7-—
2a=5"=
Jol=5r= 6,9),(5,7),4,10,3,2,8,1
40—F— 5,9,6,7,(4,10),8,3,2,1
[ N5
B 5 130M4 714K 5-9 190M e E 5-8 230 JEE 5-7-9 880F4
B B 5 1004 5-7 350M B = 5-9 270 EE 5-9-7 1,760
9 1004 7-9 550M B H 5-9 320M
7 220M

ABICOVWTRDTEEERROODE. TR LIV,



